
1) 3   3/5 - 4   3/4

Answer: ____________

2)

'Name the type of angle.

Answer: ____________

3) 68 - 53

Answer: ____________

4) Find the mode of the following set of data:

29, 29, 35, 35

Answer: ____________

5) 13.3 x 21.8

Answer: ____________

6) Simplify 16:13

Answer: ____________

7)
32

1 /5

Answer: ____________

8) Find perimeter of 
square having each side 
(s) equals 67 ft

Answer: ____________

9) What would you multiply by to 
increase an amount by 50%?

Answer: ____________

10) Find the value of 'd' by completing 
the square of the following equation: 
2 + 10d + 16

Answer: ____________

11) 24.84 ÷ 10.8

Answer: ____________

12) 56.9 - 15.9

Answer: ____________

13) 'What is the probability of rolling 
factors of 6.when rolling a dice

Answer: ____________

14) 1900 ÷ 100

Answer: ____________

15) 1 x 100

Answer: ____________
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16) 22 ÷ 16 x 15

Answer: ____________

17) Convert the following mixed number 
46/4 to an improper fraction.

Answer: ____________

18) $329.00 earning 6% compound 
interest for 3 years.

Answer: ____________

19) Convert the following mixed number 
79/6 to an improper fraction.

Answer: ____________

20) Find area of square 
having each side (s)
equals 27 ft

Answer: ____________

Total: ___ / 20
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Answers:

1) 23/20 2) Obtuse 3) 15 4) 29 5) 289.94 6) 16 : 13 7) 2

8) 268ft 9) 1.5 10) (d + 5)2 - 9 11) 2.3 12) 41 13) 2/3 14) 19

15) 100 16) 17) 11/2 18) $391.84 19) 17/2 20) 729ft
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